Dammam Community College
MATH 011  

Past Exam Questions  

 Section - 1.6  
1. The equation 
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 has
Answer:   only one negative rational root
2. The solution set of the equation 
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 contains:
Answer:   one rational number
3. The sum of the real solutions of the equation 
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Answer:   
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4. The sum of all solutions of the equation  
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Answer:   
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5. If 
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, is the solution of the equation 
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Answer:   
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6. Solve 
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Answer: The only solution is 2
7. The equation  
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 has
Answer:  two distinct complex roots that are not real
8. Solve 
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Answer: The only solution is 4
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